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Uslumnwtiphbp
45211229 Ghtupwpwhwh wolunnumbphbp qupongibph hutfwp eU gpund 363,750,000 1 363,750
45211229 Chtupwpwhwh wylnmnwbpikp puypnghbph hnfup ZPU npund 363,750,000 1 363,750
45211229 Chtwpupubwb wylunwbpitp guypnghkph hufop 20U npud 363,750,000 1 363,750
45211229 Thbwpwpwipnh wphuwnmbphbp puypnghbph bufup 28U npud 392,850,000 1 392,850 Y
45211229 Chtwpwpulwh wplwwnwbpbkp qupnghbph bunfup 2eU npwid 363,750,000 1 363,750 ;};:;z
45211229 Chumpwpuljwh wphumnubphkp pupnghikph hunfup 2FU npund 392,000,000 1 392,000 i’ j ;_,{
45211229/512 Chuiwpupuluh wmprmnwbpbbp pupogikph hunfmp ZPU npund 241,250,000 1 241,250 E’E‘_
45211229/513 Chtmpupmlub wolunnwbphbp nypnghkph hudwp rU gl 241,250,000 1 241,250 !‘%\33
452112295514  |Ghinapwpulwh wylrwmnwipbbp qupngkph hunfup 2P0 npund 241,250,000 1 241,250 W
45211229/515 Ghiwpwpwlwi wphmnowbphkp nuypnghbph hudwp pisiy gpunf 241,250,000 1 241,250
45211229/515  |Ghtapupwbuh wolwinwlipbbp qupngtbph huifup 2RU gpud 241,250,000 1 241,250
45211229/517 Chiwpwpwhuh wpfunnubpbbp qypnghkph hofwp paliy npud 241,250,000 1 241,250
45211229/518 Chtwpwpulput wolpwwnmbpikp nypnghbph hudwp 2rU ppud 241,250,000 1 241,250
45211229/519 Chuwpwpwlwh wplmnwubpikp nupnghbph hunfwp 2rU gpud 212,300,000 1 212,300
45211229/520 Chuwpwpuljwh wpjmmnwubplkp nuypagikph hunfwp ZRU npud 212,300,000 1 212,300
45211229/520 Chiwpupuljmb wprmnwbphbp pupnghkph hudup ZRU npud 308,800,000 1 308,800
45211229/525 Chtwpwpwlwh wyhnmnmbphtn nypngikph hudwp 2RU guud 308,800,000 1 308,800
45211229/526 Shinupwpwhwh wylunnwlphbp qupnghtph hulwp ZRU npund 308,800,000 1 308,800
45211229/527 Chhwpupuhwh wyhnwbphtp qupnghkph hmfop 2RU npund 308,800,000 1 308,800
45211229/529  |Ghtmpwpwljwh wyhuwinwbphbp gupngibkph hufup PU ppud 308,800,000 1 308,800
45211229/53 Chbwpwpulwh wylmnwbphbp gupnghbkph baudup 28U npud 363,750,000 1 363,750
45211229/530  |Ghimpupwhwh wolnunuliphbp qupnghkph hudwp 200 pund 308,800,000 1 308,800
45211229/531 Chinupupubuh wyrwwwlphbp jupngikph hudwp paziiy npund 310,400,000 1 310,400
45211229/532 Chinupupulmi wopmnnwhphtn nupnghbph hunfup LRU npwid 250,000,000 1 250,000
45211229/533 Chinupwpwhwh wphunnutphbp qupnghkph hofwp ZPU ppwyd 392,850,000 1 392,850
45211229/534  |Ghtmpwpwhulh wpluwwnwbpbkp qupnghkph hufup pIsi) npund 392,850,000 1 392,850




45211220/535  |Ghbwpmpmibuh wphmnmbiphbp qupnglkph huitup 2P0 ! 392,850,000 392,850
45211229/536 Chtmpumpulwt wyhwnwhplkp gupngkph hufup 28U npuyd 310,400,000 310,400
45211229/537 Chimpupwlul wphnmawbptkp nupeghtph hudwp 2P0 npwd 451,050,000 451,050
45211229/538 Thinupupmhuh wojmnwhpbbp qupnghkph hudop LRU npul 318,450,000 318,450
45211229/539 Chipwpwlwt wylnmnubphbp nuypnghkph budwp 28U npud 347,400,000 347,400
45211229/54 Chtunpupwlwi wphnmnwbphbp qupnghbph hubhup ZRU npad 263,750,000 363,750
45211229/540 Chbwpwpwhwhb wplunnmbpikp pupoghbph hodwp eu npurl 241,250,000 241,250
45211229/55 Ghiwpwpuluh wplnonwbplbp nypnghkph budwp 2PU npud 363,750,000 363,750
45211229/550  |Ghtwpwpulwb wpluumnwiphkp qupnghkph hwdwp biuiy npund 250,000,000 250,000
45211229/56 Chbwpwpwhwh wphunnwbpbkp puypnghkph hodwp ZRU gpund 363,750,000 363,750

45211229/57 Chbwpwpwlwh wpfunnmbphkp qupnghtph hunfuwp 2RU pud 271,600,000 271,600

45211229 Chbwpwpuljmt wpwmnwbplbp upnghbph bulup 28U npud . g

45211229 Chiwpwpulwh wughunnmbphbp nypngikph budwp 2RU npund , *

45211229 Chiwpupubmb wylunawbphbp qupngbph hudup Zeu npud " ‘

45211229 Chtupupwhwh wypmmawhphbp qupnghkph hufup ZRU npuni = *

45211229 Thbtwpwpuluwh wpunnwbphkp qupnghtph hudwp 20U npud = N

45211229 Thiwpwpuwlwh wplunubphkp nuypoghkph hudwp pisii) npud < =

45211229 Chinupwpwluh wphnmnwbphkn puypogikph hunfmp 2RU npud = *

45211229 Chtnupwpuluh wyjnmnwhphbp gupnghbph hufup ZPU npund * g

45211229 Thiwpwpwhwh wphunnmbphkp quypnghtph hudwp 2PU npund * *

45211229 Ghbwpwpuljwh wywnubplkp pupngibkph hulup 28U npud * .

45211229 Chimpupwlwh wyhnmnwbpbbp gupngibph hudup 280 gpunk ¢ .

45211229 Chinupupwluh wpwwnwipbbp qupnghkph hudwp 28U pud . 2

45211229 Chlwpupwhuwh wohmmnwhphkp gupaghkph hmfup IrU npund = * P
45211229 Chtmpupulwh wplmnwbpikp upnghlph hufwp 28U nputd s . ’;\i‘
45211229 Chinupwpulub wphumnwhphbp nupnghkph hofup pizii) npud . * Sf;/
45211229 Chinupmpulwb wohunnwbptp pypeghtph budop Iy npead 8 . ! ;:‘
45211229 Thwpupwhut wyhunnwbphbp qupoghkph hmfup 2PU ppud * * fj\ &
45211229 Chipwpulym wyhmnwbplbp gupaghbph butup ISy npund . Z ::‘:,i;
45211229 Chtwpupuiub mofunwbpbbp gupngbkph hudwp w00 | npud - . < o
45211229 Chlwpupulub wpjuunawbpbbp gypagibph hulop rU npund = *

45211229 Cpbwpmpuwijwh wyuunwbpikp qupnghlph hnfup 2PU npud * *

45211229 Chbmpupulwt wyhrmnwbplkp nupoaghkph bunfup 1PU npw = 4

45211229 Chinnpwpwlul wohunnwipbkp jupaghbph hunfup AU ypunt - .

45211229/521 Chtmpwpwhwh wphunnwphkp puypaghkph hwdwp LeU npund 241,250,000 241,250
45211229/522 Chbwpmpwhwh wolunwbphkp nupaghtph hunfwp LPU npud 241,250,000 241,250
45211229/523 Thimpupuhnb wyhnonwiphbp gupagikph budwp pizi) npud 241,250,000 241,250
45211229/524  |Ghtmpmpumlmb wyhmnnwbpblp jupaghbph hudwp 2P npund 241,250,000 241,250

45211229 Ghmpwpumljuth wojwnwhpibp pypoghbph hunfup piii) npwd : * |
45211229 Chinapwpuljub wohwnmbphkp pupaghbph hunfwp bisi) npud . .

45211229 Chtmpwpwluh wphmwwhphkp qupaghph hufwp 2PU npund . .

45211229 Chiwpwpwlmb wplmnwmbpbp guypaghkph hudwp 28U npuad * *

45211229 Chimpupulub wplwmawbpbbp upaghkph huilwp zRU npud J .

45211229 Thinnpupulub wpamawiptkp pupeghkph hunfwp eU gpud * *

45211229 Chimpupuhmb wyjwunwipkp puypeghbph budwp zeuU npund Y *



45211229 Chtwpwpuwlwh wphwnwbpbbp qupngikph hudup 20U npuf = e
45211229 Chinupwpwlwh wplnmnmbpbtp nuypnghkph hudwp 2P0 npund : <
45211229 Chtwpupulut wylumnwlptkp qupoghkph hunfop ZeU g = =
45211229 Chhwpwpulwh wphwnubpbbp gypoghkph budwp 28U npud = *
45211229 Chiwpwpwhwb wplunwbphkp nupngibph hudwp pisii) npud * *
45211229 Chiwpwpwhuwh wyfunnmbphbp nupnghkph hofwp LRU ppund * "
45211229 Ghtwpupwljwh wplumawbphbp gupngikph hunfup ZPU npud * s
45211229 Thtwpwpwhub mphrmnwbphkp qupngikph hunfop 22U npwyd - =
45211229 Ghtwpwpwhwh wzhunnubpbbp pypoghbph budwp o gpunf ' *
45211229 Chbwpwpwhwh wolwnwbplkp pupnghtph hudup ZRU npud 4 *
45211229 Chtmpmpmljmh wphunwbpikp pypnghkph hudwp pisiig npund 3 *
45211229 Thtwpupuljuh wplwnwbpibkp nuypnghkph budup 28U npud < *
45211229 Chiwpwpwlwh wplunwbphtp nuypegibph hudwp 28U npund 3 *
45211229 Chitwpuwpwhwh wahmmnwiphkp gupnghbph hudwp 28U gpurd L ¢
45211229 Ghiwpuwpwhmh wmpjunwbpbkp quypaghtph hultwp ZeU fpunl ¥ "
45211229 Chtwpwpwhwh wolunwbpbkp qupnghtph hufwp 2RUT npund * *
45211229 Chuwpmpulmb wplwwnwbpikp nupaghkph hunfwp ZPU npud = *
45211229 Thinupwpuwlwh wphunwmbpbkp nuypngikph hudwp ZPU npmid 2 ¢
45211229 Chinupwpwhwh wgliumnwbpikp nupngikph hudwp R0 npund * .
45211229 Thtnwpwpwhmh wphunnwbpbkp gypaghtph hudwp 2rU npud 2 4
45211229 Chihwpwpwhwh wphunnutiphkp nupnghkph hodwp 2PU npund - =
45211229 Chtwpumpumiwh wownwhphkp gupnghph unfwp ZPU npund & =
45211229 Chtwpupwlwh wphmnubplbp upoghkph bunfuwp ZRU npud * =
45211229 Thiupwpwlwb wzlumnwbpikp nuypngkph hudwp 2P0 npud S =
45211229 Chtnupwpulwh wplunawbphbp gypaghbph hudwp sy nud b *
45211229 Thimpupuluh wohmnnwhpiibkp gupaghkph hufup ZPU putd 8
45211229 Thtmpupuluh wohmnwhpikp pupnghtph hunfup ZBU npud <
45211229/583 Thimpwpwlwh wphunnmbphkp nupnghkph hudwp pisii) npund .

Cunumpjnihibkp
71351540 Skjubhlmlwb huljnympub Swougnppibbp ZpU g Y
71351540 Skjihljwlywb hunnnppub Swnun pyobikp ZRU npunl .
71351540 Skjubhmbwh hulnynppot Swown ey iikp 28U npud 2
71351540 Stjulthulwb hulnnarpjub bunugs: pyokikp 100 npud 9,600,000
71351540 Skjubihipulwh huljnympub dwoumpmbbbp 2RU g 13,950,000
71351540 Skputhimbmb hujagnipmb Swmooyn pnitibikp 2PU npund 9,556,000 9,556
71351540 Skjulihluluh hulnnnuppub Sunum e bkkp 22U npund 12,600,000 12,600
71351540 Skjubpluitpnt huljnnoupjub Suowmpmbbp pisii) npuad 9,560,300 9,560
71351540 Shjutthjulwh hulnnmpyub Swnwjnpinibbin rU g . B
71351540 Skjubipljubmb hulnnnpub durunipnihitp LPUT ppud * =
71351540 Skjutpymijuh hulnnnipput supwn ppmbbkp 2PU npud g =
71351540 Skuthwlmb huljnympub Swewnipmbikp IRU npud . .
71351540 Skjubihlulmb hulnnnipjub dunugm pjaciikp e npund = .
71351540 StjuuhYmbmi hulnnniprub Swnuyn pmiiiikp e npuad = &
71351540 Skjubhlwlut huyoqmpub Swowpipmibbbp LFU npwd £ *
71351540 Skhbhwlmt holagouput Swunumpmbbbp pisi) npuf . *
71351540 Skjubihmiub hujannipjut dwoun pobbkp 2pUT npunl 4 .




71351540 Skjubhljuhwh hulngmpmmb Smpumpmibbbkp 2P0 npunl * 1 *
71351540 Skjeihjwhwh huljnympub bwunwmpmibbkp pisii) npud 9,375,000 1 9,375
71351540 Stjubhhwimb huljngmpmb Swounpniibkp pasioy npurd * 1 *
71351540 Skhuihjurljwh huljngnipyub Swowmipmbbkp ZRU npud . 1 .
71351540 Skjubthwhwh huljnympyuh dwowmpinbibkp ZRU npud * 1 »
71351540 Skjubhhwlwh huljpnipjub dunmmpmbhbp 28U npud * 1 s
71351540 Skuithjwlwh hulnymppub Swowmpmbbbkp 2P0 npud * 1 2
71351540 Skubhjwmlmb huljnympjuh Swmompmbbtn ZRU pud 2 1 =
71351540 Skuthjwlwh buljpgoipjub Swowmipnibbbp 2PUT npund » 1 .
71351540 Shjutthjulwb huingmpyub Swewmpmibibp LRU gpunf * 1 - a
71351540 Skjutthjuljwh huljnympyuh dwowmipnibibkp ZPU npud = 1 "
71351540 Stuthjwlwub hulanoipjub dwowmpnibubp ZPU npund . j | <
71351540 Skbihljmlwbh hulnyn ey dwpunipjniabbp pisiin npud ” 1 g
71351540 Skpihhubmb huhnnmppuh dwowmipinbbkp 28U npud - 1 =
71351540 Skjubhhwhwh hunympjuh dwnumipnbhbp ZPU npuad * 1 ’
71351540 Skjuthjwlwh huhnympub Swowynpmibbkp 2P0 npud . 1 .
71351540 Skhithwhwi hulnyoippumb Swowmpmi bbbk 2P0 npud 11,250,000 1 11,250
71351540 Skuthwljwt hulnynippuh Swnwmpmbhbkp pisii) npud 11,250,000 1 11,250
71351540/518 Skjutthwlwh huljpnmpjub bwewnipmiibkp pisiy npwd 11,200,000 1 11,200
71351540/519 Skutthjwlwt huljnnnipjub dwowjnpimbbkp 2PU npud 11,200,000 1 11,200
71351540/537 Skutthijwlmb huljnympub Swownpbikp 2P0 g 38,500,000 1 38,500
71351540 Skithjurywh hunympyub Swpuympobikp ZrU o * 1 *
71351540 Skhithiwhwh huljnynipjub Swownpmibbbp LRU npund 9,600,000 1 9,600
71351540/510 Skhthjwhwh hulnnmpuh Swpwmipmibikp ZRU npuni 8,750,000 1 8,750
71351540 Skjuthjwlwh hulppympuub Sunwynipobikp LRU npund 8,750,000 1 8,750
71351540 Skutthjwhwh hulnympjmb dwowjnpnibikp 28U npuyd . 1 .
71351540 Skjthhwljwh huljnnm pub Suowmmpn ibkp rU npud : 1 ¥
71351540/511 Skjuithhwhwh huhnympmb Swownipndikp pisi) npud 7,700,000 1 7,700
71351540 Skjuithijwlwh hulnnmpub Swownpmebbip 2P0 npud ' 1 ®
71351540 Skubhjwlwh huljnympyub Swowoupbbbp ZrU npud & 1 *
71351540 Skjutihljmlmib huljnympyub dwowmpnbbbp ZRU npud * 1 *
71351540 Skjubhlwhwb hulnynuppmb dwmowm pnibbkp 2RT npund E 1 *
71351540 Shkjubhjubmb huljnympot Supwnipjobbkp ZRUT gpud # 1 *
71351540 Skputhhwhwl hujnpnpjut Swowmpmibbkp pasii) npunl * 1 *
71351540/521 Skubhywhwb hulnymppob bunwm pym btbp Z2PU npud 11,250,000 1 11,250
71351540 Shjutthjwywh holjnympub Swmoopmbbbp 2PU npud & 1 =
71351540/520 Skubhjwlwh huljnympyub Swownpiibbp 2PU pwd 11,200,000 1 11,200
71351540/514 Skjutihljwljwih buljngmpub dwownippibbbp LRU gl 8,750,000 i 8,750
71351540511 |Skjuthijulwh hulnnnippat Smowmpncbikp 200 ypund 7,700,000 1 7,700
71351540/513 Skbhjwhwh hulngmpub dwowm pinbbkp ZPU ppund 8,750,000 1 8750 |
71351540/514 Skjubhhubwh huljngmpnob dwowm pjnihikp 2PU gpurl 8,750,000 1 8,750 o
71351540/515 Skjuithhwlwi huhngmpjul Swowm pn bbkp 2rU npud 8,750,000 1 8,750
71351540/504 Skbihhwlwl huhnymprub Swowmppoliikp 28U g 8,750,000 1 8,750
71351540/505 Stjubpywlwh hulnnnipjub Swoumm e bbkp 20U npud 8,750,000 1 8,750
71351540 Skubthjwhwh hulnnmpjub Swewmp ppibbp 2P0 gpuwd 2 1 *
71351540/507 Skjubhlpulwh huljnympub Swowmpmbbbp 2P0 gpud 8,750,000 ] 8,750
71351540/508 Skjubhwlwh hulnympub Swomnppibbp ZRU ppud 8,750,000 1 8,750
71351540/522 Skjubhljwlwh hulnymppmb swoumpmbbbp 280 ypund 9,375,000 1 9,375
71351540/536  |Skbhljmbmb hulnympwh dmoouympnibbbp PU ppun 34,800,000 1 34,800.0
71351540 Skuthljulwh huljnnm ppub dwewnpjoiibp LRU gpund 11,200,000 1 11,200,000
71351540 Skiutihjmbwh hulnynippub bwunwo e iibkp ZPU uad 11,200,000 1 11,200,000
71351540 Skhbpwlwh huynympuh Sunuympmiitkp LU _npud * 1 2
71351540 Skjutthjwhwh hulnympjub Swowm pmtibbp 2P0 npud i 1 i




71351540 Skulthhwhwh huljnnmppah Swewmpmibbp 2PU gpud . 1 *
71351540 Sklubthywlwt huljnnmpjwh Swownpnibbkp ZeU npud 2 1 .
71351540 Skjubhiwhwh hunympub Swnnmpmbbkp 2P0 npund i 1 &
71351540 Skjuthimlwh huljpymppub Swpwmpnibibp 2RU nud * 1 *
71351540 Shkjulthjwlwh huljpnm pput dwewmippibbbp ZRU g * 1 s
71351540 Skjuthljubmb hulnnoipyub swownpyribikp RU npund . 1 .
71351540 Skjubhwlwi huhnnmpyul dwowmipinibikp 28U gpund * 1 b
71351540 Shjuithjwhwh huhnympnh dwpwmpnibbkp ZRU npud * 1 5
71351540 Skjuuhhwhwh huhngmppot Swrwmpmibbbkp ZPU npuad * 1 .
71351540 Skuihywljnt huljnympwh swpwympin bkp 280 npund * 1 .
71351540 Skubhymywt hulnympmb swowmpnbbkp ZPU g 2 1 *
71351540 Skthjwhwh hupympwh Swownipnibbbp 2PU npwyd - 1 .
71351540 Skhlthhwlwh huljagmpyuh swowympmbbhbip 2P0 npuwd i 1 *
71351540 Skutihljwlwh hulnympjub Swonaympnbbhbkp 2PU npuyd * 1 A
71351540 Skjutihiulwh huljpymppub bwowmpmibibp 2rU npud " 1 i
71351540 |stjutihyjwlmb hulnyn pyul Sununipmbitn U ppwd . 1 .
71351540 Skutipljmlwh huljngoipyub Swowmpnibikp ZPU npurd . 1 '
71351540 Skjubhjulwh huljnymipmub Swoumppibbkp ZPU g = 1 *
71351540 Skjuhjulwh huljnympyub Swpuympmnibikp ZRU gpund " 1 *
Opwgph whijmbnudp’ €024/ Ulunipyut ghn, thoyl, Yuwuh yuondwph b nongifmb himfwlupgh juemgiubs dpughp
85311210/1 unphprungmpub dwommpmnibbbp PU npud i 1 *
71241200/1 ‘Lujumgdliph wunnpuuwnm, Swhubph ghwbuwnnd ZPU npud 56,100,000 1 56,100
50531140/1 @npiwphbnippub Swrwmpmibbkp az qpud 3,375,000 1 3,375
Utjubnulp’ «Fwpquijwh opblunbkph shtwpwpnipnits
45211131/501 Uwpqulub opgbljnibph shbwpupulwb wylwnwiphkp PU npund 162,415,700 1 162,416
Uy dpmgpkp
Twopwjnippiibkp
nkjubthlmlmb Jkpnsmput b funphppunadnppub & ¥
7620100501 |\ pom i 28U npuni 1
nkbhywljub JEpmdnpub b uophppunopyub " -
TG00SO | e pptibbp i i 1
7ic2ii00503 | CEbbluub dkpebeuppl b junphpgunade et 22U | gpu 35,000,000 1 35,000.0
Swpmmpnihbkp
unbuithwlwh JEpnidnput b juophppunnynipub - _
TIG2UI00504 |y bt 20U ypun 1
71621100/505 wkihwlwi Jkpnidnippot b unphpyunnoupmb 00 apanl . 1 .
Swnwnipjnibitkp
71621100506 | mEmbbimibmb Jkpmbmpnuh b lunphpguinga ppuh 20U — g 1 .
Sumnympnihbikp
62110050y |eltbbst Ybpmibnipnut b junphpnundarppat U . : )
Sy pmibiikp
wkjuithwhwh JEpndnipot b unphppunanpub
71621100 Smrmisiblin ZRU npud 6,402,000 1 6,402
71241200/506 ‘Uihnugbbph uponpwunnd, Swhinbph gohwand ZRU npud $ 1 o
71241200/4 ‘Lwhimgsbph ywnpwuwnnud, swhwkph gohunmd 2P0 npud 10,750,000 1 10,750
50531140/1 OnpAupblimpjmb dupuympmmbbkp ZPU _npwd 3,344,800 1 3,345
98111140/1 Zknhbwljuhb huljnympmub Swowympobikp Ul npud 3,216,000 I 3,216
Uyypuitiphlp
42931100 wpopwwnnphulwh gktnph$mghibp b ywpmquhkp Qz hwwn * 1 i
33141174 pdoljmljub vwppph hwjwpwdmukp Q2 huin - 1 2
38431340 wpjub Jkpoubhybkp Q2 hunn & 1 =
38431340 wppuh Epmbhstikp Q.2 hwwn . 1 .
33141174 pdowbwb vwppkph hwjwpudmbkp q.z hunn * 1 =
42911140 oph quuiwl vwppwnpnufibp QZ huwn * 1 i
33121150 Likjnpuupnwgphy 92 hwwn . 1 *
33161150 njuynuljny Q. hun " 1 *
33121140 (unympyut swihdwh uwppkp Q2 huwn g 4 °
Uoh bphky
45231131/505 Qpufmnwbwpupiwb ungejuljwywpkph bt juoyud er — 26,949,200 1 26,949
woiunnwhpbkp
45231131/507 Qpuiwnulwpwpdnh ngndwluswpbph hin juowgdwd U — 46,949,200 1 46,949
wolnunwiplkp
45211228/1 Chimpwpwlwh whnmambphtp Twbljwywpnkqibph bunfup rU npund 291,444,323 1 291,444
4521122812 Chiwpupulmh wohmmnnbiphbp twiluywpnkqibph bunfop rU g 295,189,634 1 295,190
45211228 Thtmpupwhwi wptunnwbpkp qupnghbph hubup ZeU npund * 1 *
45231131 Qpuiminwbwpupdub unyajulmowpbph hin juogpud U p— . 1 .
wzjuwwnwbphbp
Curuynipjnibbbp
71351540/550  |Skjubhlwluk hulnnuuppub Swowmpmbbkp £ 7] npu 2,076,000 1 2,076
71351540/551 Shjulthjwlwi huingonippub Swowmpmibibp 92 gpuad 2,988,000 1 2,988
71351540/552 Skubpywlwh hulnnnipjub supwm pm ik 92 npwyd 3,960,000 1 3,960
71351540/553 Skjuihjwlwh hulnnmppuh Smewmpgmibikp QL npw 3,960,000 1 3,960
98111140/501 Zunhtwlwiht huljogoppoi Sdwowjniejnibihp Ul npwd 837,000 1 837




98111140/502 2knhiwbuwhi hulngnpab dwnwn pynbbkp Ul gl 1,200,000 1 1,200
98111140 Zlimhtwluihh huljngnipput dwrwmpmnibkp Ul npud 1,384,128 1 1,384
98111140 ZEnhbwluht hufnnmpwb Swowpipm bk 108 npund 1,000,270 1 1,000
79711160 Mwpbjwhb Swowympiniiubp 9z npud i 1 =
71241200/1 ‘Lwjuwgdkph unpuunnd, bwhubph ghwhwwnnud Q. ppunl 2,189,000 1 2,189
71241200/2 ‘Lwjnugdkph wuwwnpwunnd, dwjubph ghwhwnnud Qz npud 2,431,000 1 2,431
71241200/3 ‘Lwjuugdkph wuwnpuwunnud, bwhiukph giwhuwnnud Ul npud 6,920,000 1 6,920
71241200/4 Lwhnugdbph vpmnpwuwnnul, Swhubkph ghwhwwnnwd Ut npund 6,210,000 1 6,210
Uljubnulp «Qpuimnalupumiut b Qpubbnugifnt pupkpmynpnul

Uuypubiphbp
34141150/501 huwnnil bymbulmpmb dhpbtmbtp EUX Zwwn ! 2 .
34221160/502 hgnpnukp EUX Zumn ¢ 6 *
34141150/502 huwnnil) bpwbwulmpwh dipktwbbp EUX Zwwn * 2 .
34221160/501 ljgnpnukp EUXK Zun . 6 "
34131100/502 thoppwbwyw phntunwphbp (whwubbp) EUX Zuun » 3 *
34131100/501 thnppudwijuy photunwpiikp (whlwbkp) UK Zun * 1 S

Uplumwnwhbpbp
45231144 njnugne hin juwjud woewnwbphbp Ul npud 47,763,740 1 47,763.74




